2

[N
<

a(d cot(6))

a(6 @) (rad)
5

=
S
w

o wep 1078 |
- E H = o
S 12F------ee-- e T © [ :
o E H o [ ;
- s
E IRINE g 1 é"ﬁl

: 0.5 :
107 1 10 0 . 10° 107 1
TP, (PCA t% beamling
—=— DQM_original_step2__pt1to1000_eta2p0to2p5
—e— DQM_mkFit_step2__pt1to1000_eta2p0Oto2p5
—— DQM_pixelCPETemplate_step2_ pt1to1000_eta2pOto2p5

- —
IS e T T T .
o (8]
) e
- - [ TR et
2 o>
b ko)
o 2
B 5]

9 L. 9 N F
A * * 5 F I 4
@ LAt g g [ M
F | R R LR A + - N 1 R .
: LI 4
E -t i

0. :
_1 2 3
10 L 1P (pca dbeamiindf

2 I R I A l .
o107F + T
‘55‘ 1:— """"""""""""""" i T T T4
Y| SO RO 4 S
0 8:— ............................ ,4:" T.4
E AT 4+

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


